


OBJECTIVES : ECONOMIC DICTIONARY

1. Explain how gross domestic As you read the section, look for the
product (GDP) is calculated. ;. definitions of these Key Terms:
2. Distinguish between nominal and . e pational income e real GDP
real GDP. : accounting * gross national
3. List the main limitations of GDE, : ®gross domestic  product
4. Identify factors that influence gpp, |  Product ® depreciation

¢ intermediate + price level
5. Describe other output and income aoads
measures, : =T & aggregate -
} . * durable goods supply About GDP . Drawbacks 1o GDP
@ Describes total output of || = Both methods of
¢ nondurable ® aggregate economy ! | calculating are inaccurate
goods demand

| Normal GDP misleading

b Economics and You How much attention do you pay to the
eCONnoOmIc n

L
1EW

vs? If you’re like most people your age—or most Americans

to be some kind of genius to keep track of the GDP, the GNP, the NNP,

the NI, the DPI, and the rest of the economic alphabet soup. Who has
the time? And who cares aﬁyvv/ay?

Iy I
But, whether you care or not, the G OP, the NI, and the rest do affect
you. What’s more, you affect them. Every time you buy a shirt or rent a
movie or get a paycheck, you toss your bit into the alphabet soup.
Principles in Action Ec
nation’s economi

much mone

3

Y o revmy

How the Ecor
e L onling

15 of ke Online for ive lesson
charts and graphs. on what causes a recession.

in general—your answer is probably, “Not much.” After all, you’d have ’




< gross tomestic product the
dollar value of all final goods
and services produced
within a country’s borders

in a given year

WCash value of all goods and Wﬁoods and services offered to
YES services sold YES consumers

m Cost of producing goods and | m Intermediate goods used to
produce other goods and N 0 overseas

services ,
- NO - ‘ | NO services

Money paid by shoppers in New York for
corn grown in lowa

1\f0ney paid by buyers in Indiana for cars
made by a Japanese company at a
factory in Kentucky

Fees charged to patients by a dentist

inn Teyag
{1 18Xas

Money paid by shoppers in | lﬁr%‘sf} !
jeans manufactured in Mexico by a -
company headquartered in North Caroling NO

y derst &“"";‘f.f‘@ of
this and other key economic terms,
sit PearsonSchool.com/PHecon
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The most important meas
gross domestic product ( UEP,
dollar value of 11l final ¢

&

¢ Dollar value refers 1o the toral cash
value of ¢}

he qales of 2]l eoods

r. Since ¢ §' rent quant

f go uej such as oranges, computers,
nl movie tickets are sold at different

ces, ecanommv fzgurc out tbc ”*vu.‘ag@
e

3 il
number qo]d durmg the year. Those cash
figures are then used to calculate GDP.
¢ Final goods and services are products
in the form sold to consumers. They
differ from intermediate goods, which
are products used in the p roduction of
final goods. The memory chips that a
computer maker buys to put into its
machines are intermediate goods; the
computer is a final good.
Produced within a country’s borders
is especially important to remember.’
Because we are trying to find the
country’s gross domestic product,
we can look only at the goads and
that country.
FOI zsxampi e, the GDP of the Uﬁ.,
cconomy i )
by a Japanese car company but not

care mare i m Brazil by an American
Yozl DY Vs N isiv 4]

1S

includes cars made in Ghio

1. consumer goods and services
2. business goods and services
3. government goods and services

4. net

exXports

traans,

zoods

incl ude two mnd@ of goods.

are gdurable goods—rthose that last
refatively

long time, such as refricerators
s—and nondurabl e g@@éféw
sat last a short period of i ich
light bulbs, and P;Msjaiccra

are found by adding up

as s<)e>d
Net exports
ef(pomrwgg,emdsa produced in the country

but purchased in other coumr%e —and then
cting imports. Imports, of course,
were prod uced in another country.

After finding the value of those four
categories, economists add them together
to arrive at the total xpenditures on goods
and services produced during the year.
This total equals GDP. Figure 12.1 provides
a simplified example of calculating GDP
with the expenditure approach.

nown

now

1 as the income dppmabh, caicu
GDP by adding up all the incomes in the
economy. The Tationale for this approach
is ti’ at Wh cn a ﬁrm %*H&; a pmduci or

Tatal = $350,000

CHAPTER 12

gross domestic
nroduct the dollar value
of all final goods and
services produced within
a country’s borders in a
given vear

intermediate goods
products used in the
production of final goods

urable goods thos
go0u&, that last for a
relatively long time, such
as refrigerators, cars,
and DVD players

nondurable goods
those goods that last

a short period of time,
such as food, light bulbs,
and sneakers
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fact, there are usually differences because of
income ﬁﬁﬁfﬁaﬂﬁ errors in the underlying data. Economistg
who work in the federal government take
those differences into account. They firgt

€D Suppose an economy’s €) The combined selling price of all
entire output is cars and the cars and trucks reflects the determine GDP using both approaches,
trucks. money paid to all the people who Then they compare the two totals ang
€) All employed citizens, helped build the vehicles. make adjustments to offset the differences,
therefore, would work €% The economy’s GDP for this year, This gi,ves them a more accurate result,
in the car and truck then, is the sum of the income of o
industry, or for its suppliers. all its working citizens, or $350,000. o CHECHPOINT Why are imports nof

included in gross domestic produci?

=] &%

Government officials use gross domestic ‘

o ‘ 4 ‘ ) product to find out how well the economy ¢

Enginesrs  Designers  Planners  Assembly-line  Managers  Suppliers is serforming. To help ther id d C

workers (metal, glass, iS5 per 'JZ Mg, o help ‘.x)a,sﬂ understan

ete) what is really going on in the economy, s

i ! * economists distinguish between two meas- !

Gombined income = $350,000 ures of GDP, nominal and real. t

f

The income approach is generally a more accurate way of calculating In ! z,mwd we calculated nominal A

GDP than the expenditure approach. H0P—thar is, GDP measured in current /

1. What would the economy’s GDP be if the auto company in the exam- prices. Because it is based on current prices, 1

ple also had to pay the $15,000 in fees o an advertising agency? this type of GDP is also called “current g

2. Using the income approach, explain how a new housing complex GDP.” To calculate nominal GDP, we 0

would add to the GDP. . ) - il
simply use the current year’s prices to calcu-

l’ltﬁ the value of the current year’s output. ff

P It

12,3 shows how the definition of
from other firms represents income for the  nominal GDP applies to the small economy
firm’s owners and employees. that produces only cars and trucks.
Suppose your neighbor bought a newly '
built house for $200,000. Thdl“ $200,000 o

: ) 1 P T
(minus what the builder spent on lumber, tae datam
\ - A B
nominal G

eveal a problem with
(]"Hl ( } Dg) (\g Vk)’li" ,} |§. hlohp!

1gh th :nutput of
years is the same.

Acror, ého é*mc
estate hroker,

Ver, 1‘%} &

E

increase in };i’iCGﬁ

¥
Hach of

)
j : ,v?. ,ngnex

real BIP G
expressed in constan
or unchanging, prce
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Lire
Even thot
otill not a
GDP does

companies pay workers to avowd paying
and income taxes,

that peds
as caring
cooking
does rise. however, when i pa
someone else to do these things for them.
When these nonmarket activities are shifted

oy, OF

t ("%{:t’ Chapter 3,
Section 3, for a discussion of externalities.)

For é’i’X'&ﬁ’}pES, a power Di&ﬁ‘i ?né}ﬁ emits

: smoke and dust g the
1o the market, GDP goes up, even though smoke and dust is polluting the air. That
. N T « Yy AT reory i +y o Y
production has not really increased. negative result is not subtracted from GDP.
‘Alarge amount nand income  Although some economists and politi-
&
.

is never recorded or rep()rruj to the cians interpret rising GDP as a sign of
government. For instance, transactions  rising well- bemg, we should remember that
on the black market—the marker for  additional goods and services do not neces-
illegal goods—are not counted. Income  sarily make people any happier. In fact,
from illegal gambling goes unreported.  some things that are not counted in GDP
So do “under the table” wages that some  contribute greatly to most people’s quality

Nominal and Real GDP

. Year 1: Nominal GDP i Year 2: Nominal GDP f Year 2: Real GDP
\

& Supp@s& an Pcanomy entire | @ in fhe ecord year, the economy’s

@ To correct for an mcrease sn
bt the y

prices of the cars and trucks do:

10 cars ot
18, @@ begch = §1

$154 %%{;‘ mw = $160,000
+ 16 frucks al
$20,000 pach = $200,000

10 cars at

'Ji 000 each

current ]
isa nominal GOP Paofd %

Toial

P for Yea

15 $350,000.

Real GDP reflects

actual changes in

output without the

misleading effects of

price increases.

4. How much did
the real GDP
increase by in the

geconc a’iagg if

Qutr)ut stayed the

evies Pure e
e but prices

2. Usin e figures
from Vedi‘ 1 as
your base, cal-
culate the real
GDP for Year 8
in which 15 cars
and 14 trucks
were sold.

’Q
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These equations sum-
marize the formulas
for calculating some
of the key macroeco-
nomic measurements.

1. Using the informa-
tion on the chart,
define gross
national product.

2. Why might econo-
mists track so
many different
indicators of the
nation’s economic
health?

Action
g anime

S—r

For an animated version
of this graph, visit
PaarsonSchool.com/PHecon

WMeasuremenis

income earned outside
4+ the U.S. by US. firms
and citizens

Gross Domestic
Product

Gross National depreciation of

e

+

Product capital equipment
. minor
Net National o -
statistical
Product e .
IR adjustments
. s Firms’ reinvested profits

National ——

: == & Firms’ income taxes
ficome e Social Security taxes
Personai individual
Income income taxes

of life, such as pleasant surroundings,
ample leisure time, and personal safety.
All of these limitations suggest that
GDP is a somewhat flawed measure of
output and income and a poor measure
of people’s well-being. Nevertheless, while
the measure may be imperfect, when calcu-
lated C(‘m@iaumiy over a period of time,
G D‘P I r‘ps reveal economic ;B,rowth rates.
economists an V-

l{.

ely watch the natio

SUPOINT What are tweo economic

vitigs Hiet GDP does

& m
et
2. b

wob include?

f the Macroeconomy

income earned by foreign

firms and foreign citizens =
located in the U.S.

 Gross National
Product

Net National
Product

National
income

Personal
income

other household
income

Disposahie
Personal Income

firms and citizens. GINP is a measure of
the market value of all goods and services
produced by Americans in one year. Study
the chart above to see how GNP is related

to GDP.
G NP does not account for depreciation,
or the loss of the value Gf *f%p}ml equip-

ment thdz resul ts
ing “L‘m n!wyswd
he value of what

r»;oé ;\?‘ mht 13
cpre
ent is Hed net
,ﬂ\;\,’guw { H f*T?“ MNP measures
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they pay | ’Hm’ taxes, a f1

5 " ¥
;;;;;; VIt Y 4 ¥ aﬁ’sw‘,‘\ﬁi‘;f

Cerice

m

b i p4 ok e
So far, we e defined GL Jevel changes. Firms i”M;;:mnd by changing
lated it, and learned about its limitations.  their output. For example, if the price level

One 1mportant issue rems ains, however: rises, which m(,ai s that the prices of most
What inﬂucm’;:‘@ GDP? That is, in a real . s are rising, firms have an
economy, what factors can n.um GDP go  incentive to increase their output. Similarly,
up or downﬂ These questions go to the  as pmes thmugh(mt the economy fall,
heart of macroeconomics. companies’ profits shrink. In response,

they reduce output. You ca

1 see this effect

¥ , LR in the aggreoate Supply (AS) curve in
As you read earlier, market supply is the As the price level rises, real
amount of a particular good or service UOP or aggregate supply, rises. As the
available for purchase at all possible prices  price level falls, real GDP falls.

Aggregate Supply and Demand

market. But how do we
| prices on a macroeco-

g

wrice level the average
of all prices in the
conomy

Equilibrium Aggregate
Aggregate Supply Aggregate Demand Supply and Demand

= s o

hy = =

@ P o

&) G L

[+ £3. Do
By

Aggregate supply and demand represent supply and demand on a nationwide scale. The far right-hand
chart shows what happens to GDP and price levels when aggregate demand shifts from AD_ to AD,.

1. What do the pos itive (upward to the right} and negative (downward o the right) slopes of these

curves mean?
2. If a country goes to war, causing an increase in government demand for all kinds of goods, how
might real GDP and price levels be affected?

A P B Py

For an animated version

of this graph, visit
PearsonSchool.com/PHecon

CHAPTER 12 SECTION 1 313




aggregaie demand the o0 oo e investment, government spending, an(

Seriggg?;?;ggggi;&i Aggregate demand is the amount of goods foreigners’ demand for export goods all
that will be purchased at ~ and services in the economy that will be  play roles, too.
all possible price levels  purchased at all possible price levels. As
price levels in the economy move up and
down, individuals and businesses change LT e
how much they buy—in the opposite When we put together the aggregate supply

direction that aggregate supply changes. (AS) and aggregate demand (AD) curves,
For example, a lower price level translates  we can find the AS/ AD equilibrium in the
into greater purchasing power for house- economy as a whole. Look at '

holds, because the real value of money rises }hﬁ intersection Of Y}V» AS f(lf.?d AD, curves

as price levels drop. The dollars that we hold md}gates an eqa,x:&.hb:mumi price 41’3‘/63 of P,

are worth more at lower price levels than and an equilibrium real GDP of Q,.

they are at higher price levels. Theretore, Now consider how GDP ﬁ‘séght change,
lling prices increase wealth and demand.  Any shiftin either the AS or AD curve will

: i £ cause real GDP to change. For example,

e graph shows aggregate demand falling

o ig called the wealth effect.

On the other hand, as the price level

| rises, purchasing power declines, causing from line AD, to line AD,. As a result, the
a reduction in the quantity of goods equilibrium GDP (Q,) falls, and so does

j and services demanded. The aggre- the equilibréum price level (P).
i gate demand (AD) curve shows this Any shift in aggregate supply or aggre-
B

relationship between price and real _gate demand will have an impact on real
GDP demanded. As you can see from GDP and on the price level. In the next
Figure 12.5, this curve is negatively sloped; section, we will discuss some factors that
that is, it moves downward to the right. ~ ™M&Y cause such shifts.

Consumers account for most of aggregate eHECKPOINT What four types of demand
demand, but business spending on capital are included in aggregate demand?

! ) To continue to build a
Egg@ﬁ@ai : response to the Essential

“Journal S Question, go to your
Essential Guestions Journal.

. . How does gross domestic product 10, Identify In addition to declining busi-
differ from gross natl v ness investments, what other factors
1. Use your completed chart to answer s} gross national product ss investments, what other factol

| lead 1o negy changes in aggre-

this guestion: What does the GDP e
show about the nation’s econormy? gate demar

K

reai
£, {a) If aggregate dems
nappens to real G

£
|
|
.
1

pens to ihe




Copy this table and fill it in as you
‘read to explain what economic factors
influence the phases of 2 busine

ess cycle:

Business
Investment

interest Rates| Consumer  |Bxfernal
and Gredit Expeciations |Shocks

b gl gross GOP
= stagfiation « Decreased
= jeading indicators investment cuts AD,

= lncreased
investment hoosts
aguregate demand, je @

causing GDP decline

@ @

E
&

@

Ty

b Economics and You Sometimes, you don’t have to read the
newspaper to tell how the economy is doing. You can see the signs all
around you. T h@y may be ;w[[z Wanted signs in front of local stores and
factories—when the economy is doing well, businesses hire and it’s easier
for you to find a part-time job. Or they may be Closed or Going Out of
Business signs in the windows of those same businesses. You might even
get an idea by counting the number of For Sale or Foreclosure signs where
you live. The ups and downs of the economy affect us all.

Principles in Action The national economy undergoes periodic cycles of good
times, then bad times, and then good times again. Rer‘@gnizing this pattern,
economists try to predict what the economy will do in the future—what can
be done to make the good times last E,{m(ff*; and keep the bad timeg brief. In
this section, you will learn what factors affect these ups and downs and how
they l have C«h ped ri e munrry s € e(mnmy You will 2 lm see how the actions

e typical bus

conts i, and trough.
1. Expansion An expansion is a period of economic growth as measured
H 1INy T s . e g © R
by a rise in real GDP. To economists, economic growth is a steady,
}f\iq(!’-f{—"ﬁ"ﬁ’?ﬁi ;Y'i{ 7"@‘:’@?‘ ‘;Y\ Y‘f—hfii (:Fvb - ‘n f“"p @Vﬁ’}n(‘; 538] ﬂ"\‘}’}"l(‘(—‘ ‘i(\%‘@ e
plentiful, the unemployment rate falls, and businesses prosper.
ha

2. Peak When real GDP stops rising, the economy has reached its peak,

the height of an economic expansion.

sconomic growth
a steady, long-term

mod L‘)

increase in real G

paa
o0

when
rising

K the nuan of an

conomic praﬂoioﬁ

real GDP stops

CHAPTER 12
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Tracking a Business Cycle

Peak

Increasing
empioyment,
income, and

general
prosperity

Peak Peal

Dwindling
{ pusiness activily;
| unemgployment

Trough

Trough

A business cycle reaches a peak, then falls into
a contraction. When the contraction reaches
the low point, a new expansion begins.

4. What is the low point of the cycle called?
What is the period of increasing business
activity called?

2. In which part of a business cycle do you
think the United States is right now? Give
evidence to support your conclusion.

Action Graph
- ionline;
For an animated version

of this graph, visit
PearsonSchool.com/PHecon

3. Contraction After reaching its peak,
the economy enters a period of
gontraction, an economic decline marked
by fa]iing real GDP. Falling output

gener nemployment o rise.

renerally causes unempl
4. 'L;T'mugk When h{% economy has
“hottomed out,” it has reached the
trough (rrawf), the lowest point i an

economic wmmcmun At that point,
£ i .

coniraction a period of

BCOROM
Loy
SRR S o

i

; 2
period of expansion begins.

During a always

GDP s

contraction,

DOMED T RO

» Depression If a recession is especially
long and severe, it may be called a
depression. The term has no precise
definition but usually refers to a deep
recession with features such as high
unemployment and low economic
output.

o Stagflation This term combines
parts of stagnant—a word meaning
unmoving or decayed——and inflation.
Stagflation is a decline in real GDP
( )mpm) combined with a rise in the
price level (inflation)

know much about
they cannot predict how

in a p(uim hi“ yele will
last. The only certainty is tha g‘ owing
economy will eventually cxpcrience a
downturn, and that a contracting economy
will eventually bounce back.

business a.vys.u,,zv;

fong the phases

CHECHDPOINT What are the four phases
of a business cycle?

The thﬁ:q that occur during a business cycle

have many causes, some more predictable
than others. Often, two or more factors
will combine to pm‘h the economy into the
next ph hase of a D\iaﬁll(‘ s cycle. f‘ypica‘dy,
drop in important

e will ser off a series of

sOome

the next phase,
main

sring about
atfected by four
pconomic vanabl
1. business mvestment

interest rates and credis




hawe

At some point
that
demand for
They cut bac

LLITY pavi

prod:
Other
overall

workers
restatrants,
rent. It the
speed, a recession results.

ltemswwfrom new cars zmd h()usea to hmme

electronics and vacations. The cost of
credit is the interest rate that financial
institutions charge their customers. If the
interest rate rises, consumers are less likely
to buy those new cars and appliances,.
Businesses, too, look to interest rates
~in deciding whether or not to purchase
new equipment, expand their facilities,
or make many other large investments.
When interest rates are low, companies
are more willing to borrow money. When
interest rates climb, business borrowing
falls. Qm result of rising mtcrest rates,

o /E
.‘g_\LX,‘m,E

OIS0 One

of mwu‘w ra

HTI 4

CARMHPIG A il

rhe husiness oycle.

e

PR Ty

by consery RS R R LS IR I

expect the cconor

spending be
s and lower incomes.

This reduced spmdmg can actually help
bring on a contraction, as firms respond
to reduced demand for their products.
Thus consumer expectations often become
self-fulfilling prophecies, creating  the
very outcome that consumers fear. In the
summer of 2007, consumer confidence fell.
By Seg,‘)ten'}'}be' consumer confidence was
the lowest it had been in two years. This
low level of consumer confidence affected
the holiday shopping season at the end of
the year.

High consumer confidence has the
opposite effect on the economy. If people
expect a rapidly growing economy, they
will also expect abundant job opportuni-
ties and rising incomes. Thus, they will

buy more goods and services, pushing up
gross domestic product.

THE INTEREST
RATE, NOT THE
CREDIT LIMiIT.

CHAPTER 12

(Simutation Activity.

Ups and Downs
You may be asked to
take part in a role-playing
garme about the ups and
downs of the business
cycle.

Nnesses as
as individuals?
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ses a recession?

Recessions are an inevitable part of the business cycle. A
number of conditions and events may trigger a recession-
or deepen a recession that has already begun.

What Cal

Despite the best efforts of
government and business, recessions
occur. Here are four possible reasons:

Business invesiment The

.. The economy has enjoyed an extended war cuts into the assets of
pen@d of growth. Businesses are expanding, External shock War breaks many U.S. firms. They lay off
spending is up, and unemployment and out in a nation where 1.5, workers and cut back on
inflation are largely un der control. hanks and businesses have plans to expand.

invested heavily. This nation
is also an important supplier
of goods to the U.S

; aggregate supply. Fx amp%am of nega- Of course, an economy may also enjoy
B tive external shocks include disruptions  positive external shocks. The discovery
of the oil aaip;}i% ! of a large deposit of oil or mmerals

trade, and droughts t

will contribute to a nation’s wealth.

n with a perfe ct mix of sun

|
i
[




interest rates and credit
As the war and threat of
scession continue, banks
3;‘@ slower to extend credit.
interest rates creep up.

1 Consumer expectations
Predictions about a iong
1 recession discourage

people from spending.

o
=
2
=
@D
&
&
a
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e
o
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e
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=
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Prec iictmg changes in a business cycle is
i,ﬁ in rh summer of

‘
Fm a r‘.(‘!f!*

Jmirl'sai Augt,xs;x 1929

Loniine;

g.mw the E@m@mymw@rkg

For an animated, interactive version of
this feature, visit PearsonSchool.com/PHecon

e As these factors
feed into one another,
unemployment rises
and business activity
dwindles. In time,
though, the cycle will
move into a new phase
of expansion.

recession?
2. Look at the four |

1 LAt

Check Your Understanding
1, How can interest rates help bring on a

eadings under #2.

For each one, :dc—‘-n tify a condition that
might lead to an economic expansion.

Less than two months later, the

market crashed, setting off the worst

depression in American history.
lCOnOMISES Lodqy know a lot more

;.@,!U_’,\;E”’) did in 1¢

If government policymakers a’xpuﬁ; a
contraction, thw may mi e steps to try
to prevent a recessiotl.




_United States Real GDP, 1925-1945

1,000

GDP (in billions of 2000 doliars)

Stock market
crashes

U.S. enters
World War i

A Declining GDP and
high unemployment
were two major
signs of the Great
Depression, the
longest recession in
S. history. In what
year did the Great
Depression hit its
trough? How long
did it take for GDP
to return to its pre-
Depression peak?

ieading indicators

a set of key economic
variables that
economists use to
nracie ict future trends in a

prolal [AS RS

business cycle

IR0

1925 1926 1927 1928 1929 1930 1931 1933 1935 1937 1939 1941 1943 1945

SOURCE: Louis D. Johnston and Samuel H. Williamson, “The Annual Real and Nominal GDP for the United States,
1790~Present.” Economic History Services, October 2005, URL : hitp://www.eh.net/hmit/gdp/

Year

Economists have many tools available
for making these predictions. The leading
indicators are a set of key economic vari-
ables that economists use to predict future
trends in a business cycle.

The stock market is one leading indi-
cator. Typically, the stock market turns
sharply downward before a recession
begins. For example, the crash of the
hange in 2000 preceded the
recession of 2001. Interest rates are
another indicator. As you have seen,
interest rates have a strong effect on
consumer and business spending.

The Conference Board, a private busi-
ness research organization, maintains
an mdex of ten leading economic indi-
inchs cérn; S*@f‘k pri

I\T,‘,\A,‘,« PRUNPN
NdSudd €XC

watch

is Dd’lt?d mom% ly. However,

other important tools used to forecast

changes in the business cycle, it is not
gether reliable.

HECKPOINT Why is it difficult to predict

i‘he future of a business cycle?

GROSS DOMESTIC PRODUCT AND GROWTH

Business Cycles in
‘American History

Economic activity in the United States has
indeed followed a cyclical pattern. Periods

of GDP growth alternate with periods of
GDP decline. '

, before the 1930s
economists believed that when

an economy dechned it Wouid qmckiv

‘v‘Vheﬂ l@ Ueu (‘itU{.,.K .[Iidfi({ff (,fdf)ﬂe(l Lﬂ :
1929, and the economy took a nosedive,
!’“Pczf ent Hprbert Hf)over felt little need

ery four workers was ;uE ?
t}mkc whu could find work often L&fﬂéd
very low W;ﬁgm,




conomists’ beliefs about the macro-
conomy. The depression, along with the
ublication of John Maynard Keynes’s The
seneral Theory of Employment, Interest,
nd Money, pushed economists to consider
he idea that modern market economie
ould fall into long-lasting contractions.
n addition, many economists accepted
(eynes’s idea that government intervention
~;ght be needed to pull an economy out
f a depression. You will read more about
Keynes and his ideas in Chapter 15.

The depression also affected American
olitics. Rejecting Hoover, voters in 1932
:Veiected the Democratic governor of New
York, Franklin Delano Roosevelt, to the
presidency. Roosevelt soon began a series
of government programs, known as the
New Deal, designed to get people back
to work.

Programs such as the Works Progress

vation Corps got able-bodied workers
back on the job and earning income,
which they then spent supporting their
families. In this way, spending increased
‘throughout the economy.

Still, although the New Deal relieved
~some of the effects of hard times, it did

not end the Great Depression. Not until
the United States entered into World War

1 did the economy achieve full recovery.

- The sudden surge in government defense
spending boosted real GDP well above
pre-depression levels.

Thankfaﬂy, 110 eCconomic downturm since
the 1930s have been nmay as severe as
?{}1 had reces-

t D@pressim‘s, We have

i of its oil 5
auscd external shocks in the Amcrmm oil
market. As oil prices skyrocketed, raw mate-
rial costs rose, and the economy quickly
contracted into a period of stagflation.

B AU} Vi ostag

1t

Reeling from higher-than-ever prices
ine and heating fuel prices,

%men ans began looking for ways to

conserve energy. They turned down their
heat; bought smaller, more fuel-efficient
cars; and began researching energy alter-
natives to petroleum. When the United
States and other nations developed more
of their own energy resources, OPEC
finally lowered its oil prices.

As you read earlier, there was another
recession in the ear‘y 1980s. High interest
rates and other factors caused real GDP to
fall and the unemployment rate to rise to
over 9 percent in the early 1980s.

Following a brief recession in 1991,
the U.S. economy grew steadily, with real
GDP rising each year during the 1990s.

sion spread far b@yond the United
King loans abroad and
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The country enjoyed record growth, low
unemployment, and low inflation. Some
economists began to suggest that the nature
of the business cycle had changed. Perhaps
we had learned how to control recessions
and promote long-term growth.

Much of this growth was fueled by the
rise of Internet companies, called dot.coms,
after part of their Internet address. As the
dot.comboomofthe 1990sended, however,
the U.S. growth slowed. Businesses and
individuals invested billions of dollars in
new technology that proved to be unprof-
itable and, in some cases, worthless. The
negative effects of the technology crash
spread throughout the economy to other
induastries. In March 2001, the country
slipped into a recession.
| Economists hoped this decline would
prove short-lived, but then the terrorist
attacks of September 11, 2001, resulted

| in a sharp drop in consumer spendmg“
The hotel, airline, and tourism industries
were especially affected. Many companies
blamed their performance problems on
September 11.

8. Why is the stock market considered
to be a leading indicator of eco-

1. Use your completed table to answer
this questicn: What factors aflect the
phases of a business cycle?

. Extension High int
individuals as fas
a busines

C y( fe itself. Supg vou wanted o ao
. gm,af o be, the p

Why? Az a prods

nomic change?

The recession ended in November 2001
when the economy began to grow slowly,
Historically low interest rates prevented the
economy from slipping back into a reces-
sion. However, unemployment continued
to rise steadily over the following years
as companies laid off more workers and
kept spending low. Growth was not strong
enough to dispel the feeling of bad times
even though the recession had ended.
The economy did recover, though,
By lare 2003, it was surging, with GDPp
growing at a rate of 7.5 percent over three
months. After f:hat growth slowed, though
did continue. High gasoline prices in
2006 caused the economy’s growth to slow
even further. Difficulties in the home mort-
gage market spiraled into a financial crisis
and economic recession in 2008. In the
following years the economy improved
slowly, though the unemployment rate
remained high.
CHECKPOINT What was o lusting effect
of the Great Depression?

To continue to buitd a
response to the Essential
Cuestion, go to your

Essential Questions Journal.

10, Differentiate {a) What factors other
than declining business iﬂ\l@bw
ments lead
demand? {b} Is the price level a
cause or an effect?

te




|
.

: Copy this table and fill it.in as you read

to explain how an economy grows.

P @ Lapitai e wesimerd
Survirnarizs Dusici .l
gr@vv%?‘t GoveE e Higher saving rate
A BCONOMIC Gro « Population growth with -
On BCONVTIC grov capital growth «
5, Identify the causes and impact of :
technological progress.
b Economics and You 1 you had lived in a typical American  real GOF per capita

home 125 years ago, you would have owned a box filled with ice to
preserve food, a wood-burning and a horse or bicycle for trans-
portation. For most ot us z:ad;zy, those necessities of life have turned into
a refrigerator-freezer

stove,

; a furnace powered by gas, oil, or electricity; and a
car. Clearly, as far as material possessions go, Americans of your genera-
tion are generally much better off today than they were 100 years ago.
The biggest reason is economic growth.

Principles in Actien Fconomic growth, allows successive generations to
have more and better goods and services than their parents had. In this
section, we will describe how economic growth enables an entire society
to make major improvements in its quality of life. Economics & You
shows how you both benefit from and contribute to economic growth.

Real

RS TN
Wk o

.......

; Year
ke SOURCE: Economic Report of the President

of a country (per cajricz means “f@f each
person”™). s
GDP per capita.

e

1980 1985 1990 1995 2000 2005 2000

real GDP divided by the
total population of 2
country

GDP per Capita

Amencans have seen a

B‘)L« li! LH ”

smndard of fiving.

1. What has been the
most recent frend in
change in GDP?

(18] oird
Does this graph
indicate that every
Arnerican family im-
proved lis standard
of living? Expla

For an animated version
of this graph, visit
PearsonSchool.com/PHecon
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capital deepening the
process of increasing
the amount of capital per
worker

I shown here.

FRRRY.Y oy H
1. YWhat is capila

despening?

2. Suppose You oW a

There are many benefits

of capital deepening, as

Real GDP per capita is considered
the most accurate measure of a nation’s
standard of living. As long as real GDP is
rising faster than the population, real GDP
per capita will rise, and so will the standard
of living. Fconomists can see how the
standard of living has changed over time
by comparing real GDP pcr capita from
two different time periods. They can also
examine the growth rates of real GDP per
capita to compare the economic strength
of two different nations.

it ‘mwcvu‘ to meas
of life. As you read
excludes many factors that

J
Section ”iﬁ {; P
affect the
quality of life, such as the state of the envi-
ronment or the level of stress people feel in

their daily lives.

In additxon, while real GDP per capita
represents the average output per person
in an economy, it tells us nothing about
how that output is distributed across the
population. There are a number of ways
that economists measure how income is

distributed in the United States, such
as “personal income distribution” and

i.abor force

Human capital Physical capita

s output

increased wages

“functional income distribution.” Thege
measures, while complicated, are impor-
tant. If most of the income In a natiop
goes to relatively few people while the
majority earn next to nothing, the typica]
person will not enjoy a very high standard
of living even if the real GDP per capita
figure is high.

Despite these facts, real GDP per capita
is a good starting point for measuring
a nation’s quality of life. Nations with
greater amliainhly of goods and services
usually enjoy better nutrition, safer and
more comfortable housing, lower infant
mortality, | ngf@r life spans, better educa-
tion, greater job opportunities, and other
indicators of a favorable quality of life,

Since economic growth has an enor-
mous impact on quality of life, economists
devote significant resources to figuring out
what causes a nation’s real GDP to rise.
They focus on the roles of capital goods,
technology, and a few related factors.

' CHECKPOINT How is high GDP per capita
linked to quality of life?

the equipment used to

Physical capital,
produce goods and services, makes an
important contribution to the output of
an economy. With more physical capital,
worker

each can be more productive,

work.
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does an economy increase its stock of

capital per worker? It does so through

saving and investment.

% CHECHBOINT Why does capifal deepen-
ing work with human capital?

Saving
To see how saving and investment are
related, consider an economy with no
government sector and no foreign trade.
In this simp;‘iﬁed economy, consumers
nd business firms purchase all output.

In other words, output can be used for

consumption (by consumers) or invest-
ment (by firms). Income that is not used
for consumption is called saving.

Since output can only be consumed or
invested, whatever 1s not consumed mus
be invested. Therefore, in this simplified
economy, saving is equal to investment.
The f"f‘nﬁﬂx’?i(ﬂ' of disposable income that
s sa ved is called the savings rate

nother way, samk at an indi-

{

EKC()UIH at Lif;‘,f gff‘&i"%é&

Through her mutual-f

bank, and other intermec L'
$5,000 was made availa

The firms used the money to invest in new
plants and equipment. So, when Shawna
chose not to spend her emirﬁ income but

Neepening

Shawna’s ncome:

$30.000 325,000 spent

funds for
tutions to invest.

$3,000 in a mutual
fund (stocks and
corporate bonds)

$2,000ina
“rainy day”
bank account

I

Mutual-fund firm Barik lends Shawna’s!
makes Shawna's money to firms in-
$3.000 available .~ formssuchias

to firms loans and mortgages.

- Firms spend moneyon
business capital investment |

to save a share, the amount that she saved
became available for business investment.
If we consider the economy as a whole,
the process works the same way. If total
saving rises, more investment funds become
Those firms will
use most of these funds for capital invest-
ment. That is, they will expand the stock
SECtor.

b
3Eocal w al inthe t sect

available to businesses.

ffzads to higher
igher amounts of
higher

a low sa vi:“W,—;

t funds they

')Vemm@m

‘delﬂ%g‘s rat

CHECKPOINT How is saving linked fo
capital deepening?

CHAPTER

Saving leads to capiial

pm’mimx by g}mvidmﬁ
financial insti-

How much money
fias Shawna made
available for
investment in this
example?

If people saved a
high proportion of
their incomes, how
might the economy
be affected?

: Personal Finance
For tips on savings
and investment, see
your Personal Finance
Handbook in the back
of the book or visit
PearsonSchool.com/PHecon

saving income
for consumption

savings ratle the
proportion of QiSposquc
income that is savec
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When the economy is
on the upswing,

financial institutions are

more likely to lend
money. A strong
economy means you
have greater access
to loans that help pay
for education.

Now we will consider a slightly more real-
istic economy that has population growth,
a government sector, and foreign trade.
First, think about the effect of population
growth on capital accumulation.

Population gmwth does not necessarily
preclude economic growth. However, if
the population grows while the supply
of capital remains constant, the amount
of capital per worker will shrink.
process, the opposite of capital ¢ ie:epe.,; 12,
leads to lower living standards. ct,
some relatively poor countries,

T
[N

In fa
such as

FOwWil

Bangladesh, have large labor forces by
small capital stocks.

The result is that output per worker—
and earnings per worker—are relatively
low. Conversely, a nation with low popy-
lation growth and expanding capital stock
will enjoy significant capital deepening,

Government can affect capital deepening
in several ways. If government raises tay
rates to pay for additional services or to
finance a war, households will have less
money. People will reduce saving, thus
reducing the money available 1o i"mﬁ'ne%es
for investment. In these cases, the govern-
ment 1s taxing households in order to pay
for its own consumption spending. The
net effect is reduced investment.

On the other hand, a different
occurs if government invests the extra tax
revenues in public goods, such as roads
and telecommunications. These public
goods are called infrastructure, the under-
lying necessities of modern life. Spending
on infrastructure increases investment. To
see why, consider what share of income
tHe average household saves.

Suppose ti‘ at, on average, houscholds
save 10 percent of their income. In this
case, for every extra dollar in tax revenue

the government collects, houschold saving

(and investment) m‘(}ps by 10 cents.
However , governme Cnves nt in infra-
structure rises by “% "a“!

increase in total xmcstmmf of

T S g then

S is taxing

ent og;;dc




Profile: Construction Manager

Duties:

Possible Careers
o Architect

e Civil engineer

@ Cost estimator

@ Landscape architect

e Naval architect

« Construction manager
® Engineering manager

Education:

| Skills:

e ynderstanding of

engineering

construction drawings

= ability fo establish a good
working relationship with
many different people

country pay back the money it borrowed
in the first place. In the mid-1800s, for

example, the United States financed the

building of the transcontinental railroad

in part by borrowing funds from investors

in other countries. The borrowing created

but it also hcmcd create a
t

a trade acﬁcit,

deeper 1ng

capital

U

ng economic

nrosperity

e resulti
e count "AV

¥ CHECKPOINT Do higher tax rates

increase or reduce investmeni?

= Employers prefer individuals who combine construction
industry work experience with a bachelor’s degree in
construction science, management, or civil engineering.

e plan, direct, and coordinate a wide variety of construc-
tion projects, including the building of all types of
structures, roads, and bridges

Career Link Activily
Choose another career in

construction sciences from the

Median Annual Salary:
@ $76,230 (2007)
Future prospects:
= The increasing complexity
of many construction
projects will require more
managers {o oversee

them.

Manager.

Technological Progress

Another key source
technological progress. This term usually
brings to mind new inventions or new ways
of performing a task, but in economics, it
has a more precise definition. Technological
progress is an im:“ ease in efficiency gained

. 1
O AcNTINTHIIS oraurtih (o
Ui LAULIVLLL Sl UV LEL 15

;T;"J pi Uﬁ,uung re output without usmg
more inputs.
Fechn()iogm progress occurs in many

‘H Can  res ﬂi_j xrrnr“n TIEAT

ccienti ‘rlr’j

cCONOmie S, the amount

RSP SRS S
an &,dph&é chan

CHAPTI

list of possible careers. Create
a profile for that career similar
fo the ene for Construction

ncrease
gained b
prod ng miore ouipul
without using more
inputs
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all the time. So does the quantity and
quality of labor and the technology used
to produce goods and services. These
interconnected variables work together to
produce economic growth. How then can
we isolate and measure the effects of tech-
nological progress?

Robert Solow, a Nobel Prize-winning
economist from the Massachusetts Insti-
tute of Technology, developed a method
for doing so. Solow’s method was to
determine how much growth in output
comes from increases in capital and how
much comes from increases in labor. He
concluded that any remaining growth
in output must then come from techno-

Between 1929 and 1982, the average
annual growth rate of real GDP was 2.92
percent. Using Solow’s method, economis
Edward Denison has estimated that tech-
nological progress boosted the real GDP
1.02 percent per year, on average. Denison
determined that increases in capital and
labor were responsible for 0.56 percent and

1.34 percent of the average annual growth,
respectively (2.92 — 0.56 — 1.34 = 1.02),
Technological progress, then, was ¢l
second most important factor in promotin
economic growth in that period.

Causes of Technological Prog
Since technologlcal progress is such a
important source of economic growth,
economists have looked for its causes,
They have found a variety of factors that
influence technological progress.

1. Scientific research Scientific research
can generate new or improved
production techniques, improve

physical capiml and result in better

gOOAC Gﬂd QPY“ (/(—“S

!\*

Innovation When new products and
ideas are successfully brought to the
market, output goes up, boosting GDP
and business profits. Yet innovation
often requires costly research. Companies
willing to carry out that research need
assurance that they will profit ‘:re'n the
products they develop.

B2 GROSS DOMESTIC PRODUCT AND GROWTH




7 Most Networked Economies
in 2007-2008
{ranked by Internet use and innovation)

: Ranking Country
1 Denmark
2 Sweden
3 Switzerland
4 United States
5 Singapore
6 Finland
7 Nsther(ands

SOURCE: World Econ
Report, 2007-2008

gﬂ ghg gaten S gﬁh gh%&'ay Mr. DePriest compares his agen-

TECHNOLOGICAL ?H@@RE$§ cy’s plan for high-speed Internet
. .. . . to the rollout of 616,(,"[11(,11}/, which
Some small cities, tired of waiting for faster Internet came to many parts of Tennessee

service, are beginning to build their own. only in the 1930s as a result of the
federal government’s Tennessee Valley

By Christopher Rhoad: , Authority project. That was three
The Wall Street Journal : decades after many businesses and

homes in major urban areas were first
e cable and tdu,om compames electriﬁed

cndmg bil

iternet traffic is growing faster than  Whi
t my t’irics since the boom of the are

aces like Chatranooga,

r .

SOmc munic pai
{ 5‘?«) \}17 !"P PSE

. C{J iy

} .
h mostly on larger U.S. cities for
Smaller ones such as Chattanooga  in recent

rs, like phone
’nrmm Va., Barnsville, themselves or risk falling further and cable companies, are raising
j‘msm.ﬁ and  Sailisaw, Okla., have behind and losing  better ‘D«zymv m)poslmm} uzymsrrho mifiatives are a

u’ owns and small ciries, say they need to fill the vacuum  sector Internet provic

o]
o

cluding

Vi !

ability of high- mud Internet.

t PearsonS
a springboard for a disc
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SECTION 3 ASSESSMENT

The government issues patents to provide
that assurance. A patent is a set of exclusive
rights to produce and sell a product for
a particular period of time. It is given to
people who can show that they have discov-
ered or invented a new product or process.
Currently, patents last 20 years. A patent
helps companies recover the cost of research
by earning profits before its competitors can
copy its new products.

Government aids innovation in several
other ways as well. Through organizations
such as the National Science Foundation and
the National Institutes of Health, the United
States government sponsors basic research.
This term describes theoretical research that
is often expensive and might not bring a new
product to market in a timely way.

3. Scale of the market Larger markets
provide more incentives for innovation,
since the potential profits are greater. For
this reason, larger economies will come
up with more technological advances.

4. Education and experience As you read
earlier, firms increase their human

5. Natural resource use Increased use of

capital by providing education and on
the-job experience for their employees
Human capital makes workers more
productive, which accelerates econom;j
growth. It can also stimulate growth
in another way. A more educated and
experienced workforce can more easil
handle technological advances and ma
well create some new advances, too.

natural resources can create a need
for new technology. For example, new
technology can turn previously useless
raw materials into usable resources.
It can also allow us to obtain and use
resources more efficiently, develop
substitute resources, and discover
new resource reserves. Because price.
is based on the cost of obtaining a
resource (and not necessarily on its
scarcity), new technology can also Iea
to lower prices.

CHECKPOINT How is technological
progress related to the economic growth
of a nation?

To continue to build a
Essentlal ngstmn response to the Essential
~Jou - Question, go to your
Essential Questions Journai

5‘3@ Question

1w Amrremiatacd falal
FLUTHRICLTL LAl

w
et
-
D

uestion: How doe
omy grow?

o e 2 E +
Xiension \,;Lf.pyx..oc an un l,lu; sch

you $500 and you had three choices
to use the money. You could (1) save
the $500 in a bank, (2) buy computer
equipment, or (3} keep it in

i b N el Te)
CI086e1. mOW Wouwd eac

squ
ono

3. (@) What is real GDP per capita?

{b} Why do economists measure 17
4. (a} What is capital deepening?

{b} How does it contribute o eco-

nomic growth?

8. What is the effect of th U'med
States havin ow savings rate?

«©
W

7. How do patents encourage techno-
logical progress?

Critical Thinking

8. Examine {a} What is real GDP per
capeta nab e to measure'? (b) How
of md:vsdua!a standard of hvmg?
{c} Why do economists use it anyway?

Quick Write
12.In the mid-1800s, railroad compa-
nies borrowed money from foreigr
investors to create a transcontin
rail line. The completed railroad
made enough money to pay off
loans and return a profit. ident
possible transportation or comm
cations project that might benef

&, Connect g:a‘; What is the connection country or you fﬁmm{}n!t‘y’ Writ
hahween saving and C";‘;i‘iaﬁ Gﬁefﬁ outiine for a g}(@p@gg, F%‘aﬁmg tod
ening? {b) Is it possible f@r cas%ia& project. Explain what benefits th

deepening 1o ocour without saving? project would provide and wheth
Explain, you favor borrowing money in ord
et
‘;;:Eﬁ E}i’{}iaéﬁ E’g% '»’ Cii,\.«&j!! %?%3“’“ LR

lead to a trade deficit? (b} :-:ywam
why a trade deficit caused by foreign
trade may not necessarily be bad for
the economy.

deim

T2 o ot i o §md g wme (o Faptere %
i

L LIBECTIOE ;zx; !Ui?}“ H l“!*‘ Al TS
influence tecnﬂoioglcai progress.

{ht Which of thase factors is the most

Ry VVInGH iUl 1o U

important? Explain your answer.

Py
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e
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ntial Question, Chapter 12
do we know if the

important Measures of Economic Growth

- Gross Dy lue of all f | Products made | Expenditure Approach
Domestic ds ar CE in another Income Approach

- i in ‘ country by Variations:

' Ty’s bo an American Nominal GDP:

manufaciyrer Reai GDP

Depreciation GDP plus income earned
outside U.S. by

LS. firms and citizens
minus income earned
by foreign firms and
foreign citizens
located inthe US.

Net | GNP with the cost | GNP minus cost of -
National | replacing the physical depreciation

. Product ‘ - . :

- (NNP)

National | How much pre irﬁbgme - NNP minus taxes
- Income 1 ally pay

L

&
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Key Terms and Main ldeas

To make sure you understand the key terms and main ideas
of this chapter, review the Checkpoint and Section Assess-
ment questions and look at the Quick Study Guide on the
preceding page.

Critical Thinking

1. Connect (@) Why is it important for economists to deter-
mine the influences on a nation’s real GDP? (b} Identify
two of the factors on which they focus. (¢} Select one
and give an example of how it affects the nation’s GDP.

Compare (a) Compare the
factors that affect the phases
of a business cycle in peak
periods. {b) Which factor is
the most difficult to predict?
{c) How do economists
attempt to understand the
timing of a business cycle?

Interpret (a) What major

event allowed the U.S. to

recover from the Great

Depression? (b) With regard to this event, what sector,
government or private, saw the greater spending
increase? Why? {c) Name goods and services that would
have been a part of this increased spending.

infer {a) Why did a 21 percent credit card interest rate in
the 1980s create a problem within the business cycle?
{b) What happened to the unemployment rate during this
period? {¢) Why might the government not lower interest
rates to spur the economy when inflation is high?

10. Complete the activity to answer the Essential Ques-
tion How do we know if the economy is healthy?
Work in groups to gather information to take the
current pulse of the American economy. Track your
data over a three-year period. Using the workshest
in your BEssential Questions Journal or the elecironic
workshest available at PearsonSchool.com/PHecon,
gather the following information:

{a} What trend does the real Gross Domaestic Produc
(o} maw mé@ an ba
so, how long did it iast’?
{c} At what point during these three years did the rate
of inflation peak?

self-?egt To test your understanding of key terms and
.. Main ideas, visit PearsonSchool.com/PHecon

Infer (a) Why is real GDP per capita used to measure

economic growth? {b) In what ways is this measure morye‘

effective than other measures?

Graph Review the circular flow diagram on page 40.
Redraw it to add the flow of personal savings from

households to financial institutions and fending by finan-
cial institutions to firms. ‘

Applying Your Math Skills

interpreting Data From Graphs

How do you measure a nation’s economic health? Use the
chart below to answer the following questions.

Visit PearsonSchool.com/PHecon for additional math help,

Economic Health of Selected Gountries

Coundry - = . GDP Per Capita Unemployment Rate. . .
Lo . + {2007,in thuusands) (% of lahqr force, 2007)

Czech Rep. $24.2 6.6

Germany $34.2 9.1

U. K. $35.1 5.4

u.S. $45.8 4.6

SOURCE: World Bank

7. Which country has the lowest unemployment rate?
Which country has the highest unemployment rate?

8. What information would you need to know in order to
find out which country had the highest total GDP?
How does the economic health of the United States
compare with that of the other countries shown? On
what evidence do you base your answer?

Essgnﬁai ﬁﬁiestmgg To res porsd to the chapter Essential Question
urnar — go to in.u Essential Questions Journal.

11. Modify Once you have collected your information,
provide a forecast for the next three months {quarter}.
{a) Select one of the economic indicators used.
{b} tn which phase of the business cycle does the

W'Ap?‘ end? Do you anticipate a change? i so, to
vhich phase? '
{c} Det ermine the pattern that this indicator has fol-
wed over the past three years, indicate what you
i iin the next guarter




How can economic growth be balanced
with environmental concerns?

The econormy of the United States depends heavily on
foreign oil. Some American leaders want to limit this
econormic dependence by allowing greater domestic oil
drilling. especially in the protectsed Arctic National Wildlife
Refuge (ANWR) in Alaska

Document A
Sources of LS, 0il, 2008
Nigeria Irag
6% - 4%
Venszuela
7%
Mexico
8%
Saudi
Arabia

Ganada
13%

SOURCE: U.S. Department of Energy

Document B

“REASONS TO SUPPORT ANWR DEVELOPMENT
¢+ Only 8% of ANWR would be mﬁ\rﬂwed ff"rr

ANALYZING DOCUMENTS

e Federal revenues would be enhanced by billions of
dollars from bonus bids, lease rentals, royalties and
taxes. ..,

¢ Materials, services and infrastructure needed for oil
production...will create hundreds of thousands of...
jobs nationwide.

¢ Between 1977 and 2004 the Arctic oil industries spent
over $50 billion within the nation’s economy. ...

« Today the US imports 60% of our oil from abroad.
That represents over $400 billion dollars 2 vear
being sent abroad. Oll imports are the single largest

contributor to our national debt. Every barrel of ANWR

oit would replace a barrel imported from abroad. With
ANWR oll the jobs, the money, and the infrastructure
stay at home.”

e

—"Top ten reasons to support ANWR development,” aANwWr.org

Document C
“What would America gain by aliowing heavy industry
into the refuge? Very little. Oil from the refuge would
hardly make a dent in our dependence on foreign oil....
Oil produced from the Arctic Refuge would come at
enormous, and irreversible, cost. The refuge is among
the world’s iast true wildernesses, and it is one of the
largest sanctuaries for Arctic animals.... Only by reducing
American reliance on oil—foreign and domestic—and
investing in cleaner, renewable forms of power will cur
country achieve true energy security.... If America made
the transition to more efficient vehicles, far more oil would
be saved than the Arctic Refuge is likely to produce.”
~Natural Resources Defense Council, 2005
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questions 1-3.

1. Document A best supporis the conclusion that the
United Siates
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